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Read Chapter 3 – Derivatives (pages 176-181) and answer the following questions.

1. Suppose u = g(x) is differentiable at a and y = f(u) is differentiable at g(a). Then y = f ◦ g(x) is

differentiable at and in fact (f ◦ g)′(a) is equal to .

2. State the chain rule appeared in the middle of page 176.

3. (a) Write |x| =
√
x2 and use the chain rule to show that

d

dx
|x| = x

|x|
.

(b) If F (x) = | sinx|, find F ′(x) and sketch the graphs of F . Where is F not differentiable?

(c) If G(x) = sin |x|, find G′(x) and sketch the graphs of G. Where is G not differentiable?
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